
計算例
n−1∑
k=1

(3k+2)(k−1)

=
n−1∑
k=1

(3k2−k−2)

= 3
n−1∑
k=1

k2−
n−1∑
k=1

k−
n−1∑
k=1

2 一旦
停止
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準備します

公式
n∑

k=1

c = cn (cは定数)

n → n−1と置き換える

n−1∑
k=1

2 = 2(n−1) 一旦
停止

gbb60166 プレ高数学科



準備します2

公式
n∑

k=1

k =
1

2
n(n+1)

n → n−1と置き換える
n−1∑
k=1

k =
1

2
(n−1)

(
(n−1)+1

)
=

1

2
(n−1)n

=
1

2
n(n−1) 一旦

停止

gbb60166 プレ高数学科



準備します3

公式
n∑

k=1

k2 =
1

6
n(n+1)(2n+1)

n → n−1と置き換える
n−1∑
k=1

k2 =
1

6
(n−1)

(
(n−1)+1

)(
2(n−1)+1

)
=

1

6
(n−1)n(2n−1)

=
1

6
n(n−1)(2n−1) 一旦

停止
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元に戻って、これらを代入

= 3
n−1∑
k=1

k2−
n−1∑
k=1

k−
n−1∑
k=1

2

= 3 ·
1

6
n(n−1)(2n−1)−

1

2
n(n−1)−2(n−1)

=
1

2
n(n−1)(2n−1)−

1

2
n(n−1)−2(n−1)

=
1

2
(n−1)

(
n(2n−1)−n−4

)
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計算する

=
1

2
(n−1)

(
n(2n−1)−n−4

)
=

1

2
(n−1)

(
2n2−n−n−4

)
=

1

2
(n−1)

(
2n2−2n−4

)
=

1

2
(n−1) ·2

(
n2−n−2

)
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計算する

=
1

2
(n−1) ·2

(
n2−n−2

)
= (n−1)(n2−n−2)

= (n−1)(n+1)(n−2) 答
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